The Scottish Open for The Icelandic Horse

Dressage Test A - Tolt or Trot

Where test asks for Tolt/Trot you choose which gait but you must use that gait
throughout the test rather than riding both trot and tolt. Speed of Tolt is at the
rider’s discretion.
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A Enter at A in Walk, proceed down centre line without haltingto C
At C turn right

Between M and B transition to Tolt/Trot

A 20m circle right in Tolt/Trot

Between A and K transition to Walk

ChangethereinEto B

Between M and C transition to Tolt/Trot

C 20m circle leftin Tolt/Trot

Between C and H transition to Walk

H- X -F change the rein free walk on a long rein

F - A- K- E medium Walk

E half circle 10m right to X at X half circle 10m left to B

B - C medium Walk

Between C and H transition to Tolt/Trot

H-E - K-ATolt/Trot

At A1 and a half 20m circle leftto X At X 1 and a half 20m circle right to C in
Tolt/Trot (figure 8)

M - X - Kchange the rein in Tolt/Trot

Between K and A transition to walk

Aturn left down the centre line, G Halt, immobility, salute



